A

Intensity I, . [-]

A

Intensity /;  [-]

Polarization: VV

2.0
. Data
1.8 4 —— Model fit )
s,
1.6 1 :
Winter: . Summer:
1.44 NAr=0.39+0.08m - . NAr=0.40%£0.27m
AN =187+11.8m ' AN=0.4+04m
1.2
1.0 , s
0.8 T T T T T T I'
-2.0 -1.5 -1.0 -0.5 0.0 0.5 1.0 1.5 2.0
Bistatic angle B [°]
Polarization: HH
2.0
. Data
1.8 1 —— Model fit .
1.6 - s
Winter: Q Summer:
1.44 Ar=0.39+0.09m : A i Ar=0.43+0.39m
N=11.4+6.9m N=0.4+0.4m
1.2
' H
1.0 e
. [ ]
0-8 T T T T T T I.
-2.0 -1.5 -1.0 -0.5 0.0 0.5 1.0 1.5 2.0

Bistatic angle 8 [°]



